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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Explain scope and functions of Accounting.



2. Describe the various accounting standards.



3. What is ledger ? State the rules of posting in ledger ?



4. When goods are sold on installment system, what

accounting record is made in the books of the buyer ?

           


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5. From the following trial balance extracted from the

books of Rana x-Pays as on 31-3-23. Prepare trading

and profit and loss A/C and balance sheet.

Trial Balance as on 31-03-23

Particulars  Balance Particulars  Balance

Dr. Cr.

Cash in hand 2,000 Capital 1,00,000

Machinery 40,000 Sales 2,34,400

Stock 40,000 Sundry creditors 39,000

Bills receivable 1,600 Bank overdraft 21,000

Sundry debtors 50,000 Return outwards 2,000

Wages 65,000 Discounts received 1,200

Land 35,000 Bills payable 1,800

Carriage inwards 2,400

Purchases 96,000

Salaries 25,000

Rent 3,000

Postage 2,000

Return inwards 3,200

Drawings 10,000

Furniture 17,000

Interest 600

Cash at bank 6,600

Total 3,9 9 ,400 3,9 9 ,400

Stock as on 31-3-23 ` 1,30,000.
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 x-Pays    31-3-23    


     

  

 2,000  1,00,000

 40,000  2,34,400

 40,000  39,000

 1,600  21,000

 50,000  2,000

 65,000  1,200

 35,000   1,800

 2,400

 96,000

 25,000

 3,000

  2,000

 3,200

 10,000

 17,000

 600

  6,600

 3,9 9 ,400 3,9 9 ,400

31-3-23 ` 1,30,000



A–778/BCM–102/BC–01 ( 5 ) P.T.O .

Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)
(04) 

1. Enter the following transaction in the journal :

2023

Aug. (`)

,, 1 Started business with a capital of 75,000

,, 3 Purchased goods from Kumar steels

for cash 30,000

,, 5 Purchased goods from Prasad steels

on credit 40,000

,, 8 Goods returned to Kumar steels 5,000

,, 9 Sold goods to Mahendra for cash 60,000

,, 11 Paid freight 5,000

,, 15 Interest received 1,500

,, 31 Paid legal expenses for cash 500
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

2023

 (`)

,, 1  75,000

,, 3   30,000

,, 5  40,000

,, 8  5,000

,, 9  60,000

,, 11  5,000

,, 15  1,500

,, 31   500

2. What is the objectives of bank reconciliation statement ?



3. How many types of errors.



4. Why is balance sheet prepared ?



5. Explain advantages of computerised accounting system.


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6. State features of bill of exchange.



7. Explain the objects of Branch accounts.



8. State the various methods of calculating depreciation.



**************


